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Punjab State Teacher Eligibility Test 2023
Paper- I

| Maximum Marks :150 Time : 10:00 am to 12:30 pm

Name:

(Signature of the Candidate)

Roll No. (In Figures)

Roll No. (In Words)

: INSTRUCTIONS :

Total Questions arel 50.

All questions in the Test are multiple choice questions.

Each question carries one mark. with four alternatives out of which one answer is correct.

There is no negative marking.

Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to the question while answering
on the OMR Response Sheet

Marking more than one response shall be treated as wrong response.
8 Mark your response by completely darkening the relevant oval. The Mark should be dark and the oval should be

O N

>

e |

completely filled.
9. Use of calculator, Mobile or any other electronic device is strictly prohibited and use of these shall lead to
disqualification.
10.  The candidate MUST remove the last Carbon copy (Candidate’s Copy) of OMR after completion of Test.
The question pader will be both in English & Punjabi. In case of any doubt, English version will be taken as final.
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‘“Mathematics is a language with which the God wrote the Universe’ is said by/ afe3 Qu g

3 frw fem yaran 3 giis § fafn 3 fem o faar fomr I

(A) G.H Hardy/ T ™9 Jd3! (B) Ramanujan/ ITHGHS

(C) Galileo/ IBIBIB (D) Bhaskara |/ STHAG |

Which of the following is called building block of Mathematics/

(A) Arguments/ E8Tst (B) Undefined terms/ niufasiis wa3
(C) Natural Phenomenon/ =83t €39 | (D) None of these/ feast f&g et =t

According ta NPE-1986, upto what level mathematics should be compulsory for all children in

Indian schools / NPE-1986 ® W&Hd, 39t Agst f&g A dfon B aife3 fam U
3 A d& gdier J

(A) Elementary Stage/ &t 7eA (B) Secondary Stage/ AI3dl HeA
(C) Senior Secondary Stage/ Aahig Rasd AeA (D) College Stage/ dT&H Hed
Following the recommendations of................... on evaluation reforms in school education the

traditional examinations are being replaced with continuous and comprehensive evaluation

(C.C.E.] scheme/........ Tt Ag@ fifftpor fE9 HTare purgt € fgrani R gmie; Jafest |
Yt § fodza w3 feniug ysiae (A8 weiH &% gefenr & fagr I

(A) NCF-2000 (B) NEP-1986

(C) NCF-2005 (D) NEP-2020

Which type of testing helps a teacher to know ‘Why a student is feeling difficulty in learning a

particuiay concept?'/fa'ﬂ ford <t #ig »ifoyg é feg & feg Hew dd<l I fa
fafonradl & foR femm damu § fifue feg was fa€ »r adt 3

(A) Diagnostic Testing/ ITEIB AT AT (B) Knowledge Testing/ famrs 2R

(C) Skill Testing/ I&d <HISd! (D) Understanding Testing/ IHE <HICdI

Which of following is not a problem in teaching learning of Mathematics/ Jat fa3 &9 faaz
JifE3 wiftmiys 3 fitye &g s mifipr & 9

(A) A sense of fear and failure regarding | (B) A curriculum that disappoints both a talented
Mathematics among a majority of | minority as well as the non-participating

children/ §J3 dHfgni 39 IfE3 ¥ | majority at the same time/ foq YisqH CRIECER
Ay &9 33 w3 wHEST @ I2& | wefaredt yfsamdl ® s -as Ji-gdiedt
g3 9 § foam Fge I

(C) Crude methods of assessment that | (D) Enriching teachers with a variety of mathematical
encourage perception of mathematics | resources/ MPHUT § 2Y-=Y Jfe3 ¥ AIS
as mechanical Computation/ HBgE 2 IE FJYI gIG -

o n o s D

9 2 A AfE3 § HARES IEE =
1 U9E & B3aids Ia% I8

In the words of David Wheeler, it is “more useful to know how to ----------==--=-=- than to know a
lot of mathematic, Fill in the blank with one of the following./ 3fes ?;ﬂm (David Wheeler ) g
Havi f¥g,9g3 A Gife3 § AT &8 ey st Tud eeed J 7 faR.d......

J5 fou & fan e & ugl & 341,

(A) Solve Problems/ AHfTE! 5 I8 99 [ (B) Use Mathematics/ fc3 T 293 EGI

(C) Rationalize/ IIIHIB TG [ (D} Mathematize/ afe3 a9
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8. As per the NCF(2005), The Mathematics Curriculum should be coherent in the sense that/ NCF
(2005) ® WEHE, eI T UsaH for »igy few feamd(coherent) I Fdier J fa
{A) It seeks to achieve the higher aim (B) The variety of methods and skills available
rather than the narrower aim/ feg3a1 | piecemeal cohere into an ability to address problems

& ' that come from science and social studies in high
GO A T G R G S T | 3 et i o s 3 781
Ay feg fefamirs w3 mfaa wiftiest 3

(C) Students feel the need to solve such problems/ (D) Ail the Above/ @U@EE! A
fefenradl wifadht Fifmret § I8 995 <
83 HiggA 96

9. The ratio of the areas of two similar triangles is equai to ........ of their corresponding sides./ €
M fade’ @ B3des! e migus Gust fenff nizareft (Corresponding) 7=t €......... € €9TET
Jor
(A) the ratio / M&U3 (B) square of the ratio/ M3ZUT3 & TJdI
(C) cube of the ratio/ M&U™3 € W (D) none of these/ feaat feg d¢t adf

10. The following observations have been arranged in ascending order. If the median of the data is
63, find the value of x.
29,32, 48, 50, x, x+2, 72,78,84,95/ &1 &3 faduci § vge i & feenfuz dizr famn
J1 Ag 3 & WA (median )63 J, 31 x T HE F3|
29, 32, 48, 50, x, x+2, 72,78,84,95
(A) 60 (B) 61
(C) 62 ] . (D) 63

11. For any two positive integers a and b, HCF{a,b) x LCM(a,b)=/ W@@W ﬁga’a
AU (integers)a 3 b B, HCF(a,b) x LCM(a,b)=
(AJaxb _. (B)a b
(C)a+b (D) bxa

12. Which of the following rational numbers have terminating decimal expansion?/ forafays &9
faadt ufana AP (rational number)ﬁHH"—:’ (terminating) THH&< ferzrg Jer a7
(A) 15/1600 | (B) 64/455
(C) 29/343 (D) None of these/ fEgat &9 I8 &t

13. How many silver coins,1.75 cm in diameter and of thickness 2mm,must be melted to
form a cuboid of dimensions 5.5 cm x10cmx3.5 cm?/ 1.75 AcHiea femm w3 2 fHghie
Herel @ fold giel 2 fafamit §, 5.5 Achited x10 Adhiied x 3.5 Hehited maTd © W (cuboid)
FET B! flnufen 7 grdier J2 '
(A) 300 (B) 350
(C) 400 (D) 450

14. A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same radius. The

total height of the toy is 15.5 cm. The total surface area of the toy is......../ Fafudaras

ﬂ"cﬂvﬂeaélﬂé%ﬁ’aéaﬁm? éﬁ@ﬁﬂ@%ﬁammemisphere) gg)-ﬂ@?
Azrigmn J1 432 & 95 Qaret 15.5 Adhled J. fu33 1 48 A3T 8598 (surface area)

(A) 214.5 cm® (B) 234.5 cm”

(C) 186.5 cm® (0) 96.5cm®
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Which of the following cannot be determined graphically?/ Wﬁéﬁ%ﬁﬂéwﬁaé‘a

15.
3 f5aura3 &di iz | Ager?
(A) Mean / HOHTS (8) Median / HiGal"
(C) Mode/ 9d&d (D) None of these/ foaat fdg et &df
16. Which of the following is not a Roman numeral/ fegst {0 faazr IHE Md (Roman
Number)?ﬂ'f?f
____la)XL o (B)LX
@vVXx (D) XC
17. Which of the following is correct regarding Bar Graphs/ §/d d[igi ®© mHy feg JIa1 €3
f&d fagar wdt I
(A) Bars of any width can be drawn vertically (B) Bars of uniform width can be drawn
with equal spacing between them / faR & vertically with equal spacing between them/
Jarel Tl gt § Qawt fevard ggeg | feamg gardl dif w9t § Bawt fewag
| g ? vm vme , wafeax 39 3 Ao | 9999 R 2B M/ TS 39 3
T Hae 3 fifann 71 FEE 9
(C) Bars of uniform width can be drawn (D) Bars of wuniform width can be drawn
vertically with unequal spacing between horizontally or vertically with equal spacing
them/m a3 Tyt gl é ' between them/ fegrg d3dt Tyt gt '5
8Jat fegarg »aws 88 € 573 8ot fegad ga=g @ © &8 T
yFe /2dfeqm 39 3 fiffenr A1 Aae | Jfoiaes At ¥IT / Tdfcas 39 3 ffenr &
J AT J
i 18. The ages of Hari and Harry are in the ratio 5:7. Four years from now the ratio of their ages will
be 3:4. Their present ages are./ Jdl M3 It <t @H’d’ 57 ¢ MEU3(ratio) f&g Ji dJd< 3
"""" 99 A% gmE B A GHa @ wsm—szt I §&TE Hge €9 ...l
(A) 25, 35 (B) 20,28
j (C) 15,21 (D) 30,42
1 19. ‘How many diagonals does a convex quadrilateral have/ fé'aawéaﬂagagﬁﬁ’aﬁ’??
' f_ém(diagonals) I IS
(A) 2 (B) 1
(C)0 (D) None of these/ et fed orgl &1
20. If the number is the square number, it has to be sum of / Hald HIET, FIEHT @ddl(square
numben) @, 3TfEg . TTRAZIT TG
(A) Successive Numbers starting from (B) Successive Odd Numbers starting from 1/1 3 Hd
1/1 3 §g IT T BIM3J 599 JT o8 BIr3g WS 394
(C) Successive Even Numbers starting from (D) Successive Numbers starting from 0/0 3
2/2 3 Bg IT T& BIN3T W AR | g J= =} marzg dug
21, Observe the following pattern and find the missing digits / ﬁ@f??ﬁ?ﬂﬁ§%ﬂm§3mﬂ@

wa G E3

11%=121 , o
101-10201 _ - S L
1001°=1002001

10001%=100020001

10000001°=..............
(A) 1000002000001 (B) 100020001
(C) 100000020000001 (D) 10000000200000001
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22. Which of the following is not a perfect cube/ fFT&T ied faaaT fea ‘tTQEl'ﬁ YT (Perfect
Cube)ﬂa
(A) 216 . (B) 1000

! (C) 128 (D) 46656
23. Kamala borrowed Rs.26,400 from a Bank to buy a scooter at a rate of 15% p.a. compounded

yearly.The amount she pays at the end of 2 years and 4 months to clear the loan will be/ THT
& 15% p.a AST fHHAI3(compound) Td &8 Agd ydtee Bl f¥a 893 26,400 U2 Bug
BE| @amﬁ@amﬁ§aﬁmmmzm»@4m%wmwm
€9...3
(A) Rs. 31,475.30 (B) Rs. 36,854.40
(C) Rs.36,659.70 (D) Rs. 32,434.90

24. (1.5x-4y)(1.5x+4y+3)-4.5x+ 12y =
(A) 2.25 x2-16 y* (B) 2.5 x2-1.6 y°
(C)205x216y2+6xy (D) 2.25 x2-16 y* + 16 xy

25 Subtract 4p°q — 3pg + Spq —8p+7q—10from 18 — 3p 11q + 5pq - qu +5p q/4p g-3pq+
Spq 8p+7q 10'518 3p-11q + 5pq - 2pq +5p q 3
(A) p°q—3pq” +8pq — 18q +5p +28 (B) p°q — 7pq° +5pq — 18q +5p +28
(C) p°q — 7pg” +8pq — 18q +5p +28 (D) p°q — 7pq° +8pq — 18q +5p +18

26. The remainder when x° — ax? + 6x — a is divided by x —a/ € x> —ax® + 6x—a § x —a &' Id|
ST fad Fell(remainder) st 9T d
(A) x+7 : {B) 3a+2
(C) x+2a (D) 5a

27. The value of k, if x— 1 is a factor of p(x) = kx? =3 x +k/ k ?gg, Hadx—1; p(x) = kx® -3 x + k€T
IEH (factor)d|
(A)3 (B)1/2
(C)3/2 (D) 3/4

28. Which of the following is not true when a transversal intersects two parallel lines, then:each

pair of/ 951 i3 & faga Adt 5t I 7 e TTHeaIRs @ AHGT3d duei § der J, fag
J9q |

(A) Corresponding angles is equal. ViiGIES (B) Alternate interior ang!es is equal./ Wﬂ?ﬁ
(Corresponding)d& T AT EIEIJ | | fEd3d(Alternate) ST TTHIT IEI I |

(C) Interior angles on the same side of the | (D) Interior angles on the same side of the
transversal is equal./m@ﬁa transversal is supplementary./ ?EHTE'H'HE T f&fa
ufﬁ%’fﬁ?a?ﬁﬂa'r TR EIEIII (YW T wiegal el T AT
Hyds(Supplementary) J |

29. Which of the following is not a criterion for congruence of triangles?/ %fﬁ@ﬁ%fﬁ’ﬂ?ﬂ
f3aet & HIgdmH (congruence)B8 HUES &eff F?
(A) SAS (B) ASA
(C) RHS (D) AAA

30. A right triangle ABC with sides 5 cm, 12 cm and 13 cm is revolved about the side 12 cm. Then

the volume of the solid so obtained is/ 5 RZtHIad, 12 Ahica w3 13 Adhilea gaei ars iy
HH%?%@?ABC; 12 Hehfiea & gan ® oS e J| faa e 3gt yuz 23 37 < uifess

(A) 100m cm® (B) 120m cm®

(C) 110m cm® (D) 780 cm®
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31 represents the pattern of biological, cognitive, and socio-emotional processes
that begins at conception and continues through the life span. me-fefamrs, Su3Ha
"3 AHAR-Z@E3IHI Yfafanier @ Oeds & TaN8er J # JI68 wikAE' 3 BY Je7 J ni3 Hles
T 3F A9l Ifder I B B
(A) Development/ fea™d (B) Growth/ =TT
(C) Maturation/ ufgua3r (D) Cognition/ 8T

32. Piagetian concept of the incorporation of new information into existing knowledge is called

/ viger famrs ffe &=t Areadt § HHS I35 ©f uElddmis gt faar

e J1
(A) Assimilation/ AHTEIgE (B) Accommodation/ faarfem
(C) Organization/ HII&& (D) Equilibration/ A3®&

33. Who among the following presented a social constructivist approach to learning? J&t f&fanit
(A) Ausubel/ ¥IFES (B) Gagne/ a1
(C) Jean Piaget #ts urstdre (D) Lev Vygotsky &< fedierat

34. People value trust, caring and loyalty to others as a basis for moral judgment, represents
which of the following stage of Kohlberg’s theory of moral development?/ 3 33 fade &
niarg €3 gt Yt ferer, Sugs »i3 Tewd! € JEd I9¢ 75, JoBHgdl ¥ 3f3d feaw €
frais @ I8 uswm J9° fan & sar@er 9 2
(A) Stage 2 Individualism, Purpose, and (B) Stage 3 Mutual interpersonal expectations,
exchange/ Us™mf 2 fenia3tere, 88" »i3 | relationships, and interpersonal conformity/ U3™f
Toegr 3 wyHT ygrug &hitet, a3 ni3 nizg-fena3ia
(C) Stage 4 social system morality/ U3™f | (D) Stage 1 Heteronomous Morality/ ugmi 1 fefds
4 AHfAa Y@t 3f3a3r dfzazr

35. In triarchic theory of intelligence as given by Sternberg, which of the following is not included?
FAeIsEddl gnrar fiSt are gt @ f3ast fiuz f9, I f&fimr 9° faas avs adt 9 2
(A) Spatial/ FaTfEx (B) Analytical/ feRSHE3IHA3"
(C) Creative/ I9&3IHA (D) Practical/ fegaa

36. Which of the following represents the acquisition of a traditional masculine or feminine role?/
Js fefimit f&9° faozT o uduaarz vae 7 fersdt gfiar & yust & warBer 37
(A) Gender roles/ A39 gfHar=r (B) Gender typing/ Asg eretfifar
(C) Gender integration/ 7339 gdlads (D) Gender stereotyping/ A 39 RaldtGergtiiiar

37. In Pavlov’s experiments, Pavlov gave food to the dog only after ringing the bell, not after any
other sound, represents which of the following concepts?/ U<#e ¥ ytiar &9, u<sde 3 I3 &
U =8 I gmie It 3Ha fE3T, & fa fai d9 niea 3 amie, J6 f&ftmit &9° faasitn® gt
$ S9RBE J ?
(A) Generalization/ ATUI&ATS (B) Discrimination/ fe3aar
(C) Extinction/ m&y J&T (D) Sensitization/ HREesHIS3T

38. The concept of child-centred education is advocated by/ a&-aefa3 fifimr @ Aasy & a3
CiEI
(A) John Dewey/ 75 3=t @nfrar (B) Pestalozzi/ URz&wt gmrar
(C) Herbart/ J3gdc gniar (D) Froebel/ e38® ¥nmirar

39. Which of the following is not the characteristic of emotional intelligence given by Peter

Salvovey?/ I fsfimit &9 faadt Utea AT enrar fo3t ot Ies=Ha gdt <t fermsr &sdt 3 7

(A) Perceiving emotions/3<&=! § AHSE | (B) Managing emotions/ 3=<a=t & YHUS AI&

(C) Using emotions/ <&t €t @33 ada" | (D) Controlling emotions/ <&'= & g JI&"
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The concept of continuous and comprehensive evaluation is introduced in the year f

fsdza w3 fonmua Helgs S ueeT A &9 Um &St argt 9

(A) 2010 (B) 2005

(C) 2009 (D) 2004

41.

The conflict theory is given by/ Ruaw frorz f&=r fapur T

(A) Emile Durkheim/ »Ht® gaumetH gn/3" | (B) Karl Marx/ 9% H'JaH £»3"

(C) Robert Stolle/ J832 AE® Enid’ (D) Max weber/ A@H 289 ¥nia’

42.

Which of the following classroom environment places no demands on the students of any sort
and students are actively supported in their efforts to seek their own ends using any reasonable
means?/3a fifimit e foaa aoHaH Hids fai 2 fxmn & fefonmgent 3° a8t ¥ar &dt Juer
2 fefonradt fai & oy AUst O @93 a9) mud BURT ©f 3% 96 © u3sT KU AGaSHt &%
AHTES Jde I87

(A) The authoritative style/ »ifaag3 R& | (B) The Indulgent style/ YA &t

(C) The permissive style/ nifamrardt & | (D) The democratic style/ SI3=JT A

43.

Which of the following represented the four clusters of emotional intelligence given by
Goleman (2001)?/ &R (2001) gnirer &3 a@ Fres=Ha Ot € I8 AT & Jo fafimit e
faagT egA8er 9 ¢

(A) Self awareness, social awareness, | (B) Self motivation, social awareness, self-
self-management and  relationship | management and relationship management/ A<
management/ F2 AEEES, AN | 9T, AHTRE AOIgeET, AR-YEUs »3 YU YEUS

HEGA3T, Ae-YdUs ™3 AEU YdUs

(C) Self awareness, social awareness, | (D) Self concept, social awareness, self-concept and
self-concept and relationship | relationship management/ FHI-HI®Y, HHTHS-
management/ AR HWGAST, RHTHA | AT, Ae-Ha®my i3 farsT ydus

44.

Which assessment technique is subjective in nature?/fogst HeaE I3l Ag™ *9 fenastars
J?

(A) Objective type questions/ TAZfoHE Ya'd € YRS ‘ (B) Quiz/ afew

(C) Rating Scale/ Ifcar Fa® [ (D) Multiple type questions/ Sg-Yy&3 € YHS

45.

The best child centred approach of learning is /fiieE € Rg 3 edhir 978 o'efgz Udy J

(A) Enquiry based learning Ugfarg »niurfgs fmus=t | (B) Concept formation/ Ha®y fsaH=

(C) Project based leanring/ Unigie mmfa3s fimg®et | (D) Lecture/ &a9d

46.

Reciprocal determinism model of albert bandura consist of following three factors except/

WBIIe FSIT @ UIAUT fegefea Hss feg I fod fam 9a & &3 J fE6 a9d ATHS T6 ¢

(A) Behaviour/ fesag (B) Person/ fenmast

(C) Genetic/ Aafea (D) Environment/ 338

47.

is a classroom in which students from different cultural backgrounds cooperate by

dcnng different parts of a project to reachacommongoal./ __ ffc g&HgH I fAr <

Tg-=y Afgnmarad fugag @ fefouradt fog AS 39 33 udee o8t ¥ yAde © du-4 3
aaﬁr Afowar 8¢ IS |

(A) Group classroom/ AHT S&HAIH (B) Jigsaw Classroom/ fAdiH & HIH

(C) Paired classroom/ #3890 JI&HAIH (D) Pair-share classroom/ Und-EAnd S&HIH

48.

The Erickson theory of development comes under/ feam & wifgars AT nidls e 9

(A) Psychoanalytic theory of child (B) Behaviourist theory of child development/
development/ &% feamm & Hafefommax fiats | 7% fearn = fezgrae! u's

(C) Cognitive theory of child development/ & | (D) Constructivist theory of child development/
fearm = JuzHa fRuiz % fea™H T guasHA fROS
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49, Thurston’s group factor structure of intelligence does not include which of the following
factors?/ HoHCE © fE2@AH € AHT 9 g339 &9 I &3 araat @9 fao3 aHs &t T ¢
(A) Number factor/ Afunr arga (B) Memory/ RHdT
(C) Word fluency/ mg< &t g<vadit (D) Abstract thinking/ »H33 A9

50. Which of the following is not a part of factor theories of intelligence?/ Jat f&3 & foags™ gt |
T g9 fATist e f9ar &dt 97
(A) Sternberg theory/ Aedaadadr U3 (B) Vernon Hierarchical theory/ @955 Jrfeagdia®

fraiz

(C) Thurston theory/ BIACS fAUE (D) Guilford theory/ fasegs fAu's

51. Stanford Binet scale is a type of ./ Acae9s fade Aa® ot fea famry T
(A) Verbal test/ ¥ifuyar 2He | (B) Non-verbal group test/ 319 Hfix AT 2HC
(C) Individual verbal test/ fenia=tars ¥ift@ 2R | (D) Verbal group test/ ¥ifual AN AT

52. Terman defines intelligence in terms of/ 29Ha g0t & feR yarg ufgg s ader J
(A) Ability to adapt/ ¥'®= & AHIET (B) Ability to understand/ FHSE ©F Gar3T s
(C) Ability to solve problems/ AHfAn=? | (D) Ability to think in abstract terms/ Hayu mget &g
3 J% I96 ©F AHIET AYE dF dar3T

53. Who gave the concept of Kindergarten school?/ fas3dracs Ag® ot ugs fars fe sty
(A) John Dewey/ #& 3T (B) Pestalozzi/ UFAc®sHt
(C) Herbart/ gggge (D) Froebel/ €398®

54 The correct sequence of categories of learning outcomes in affective domain is/ ys<t 3ns feg

s € a3t S Jahof & At a1 T -

(A) Receiving, Responding, Valuing, | (B) Receiving, Responding, Organization, Valuing and
Organization and characterization/ Y3 | characterization/ YU3 dda", ALY €&, HIGE II&T,
fermzT
(C) Receiving, Responding, Valuing, | (D) Receiving, Responding, Organization,
Organization and characterization/ Y3 | characterization and Valuing/ yu3 d9&7, A< T,
ferm3T

55. ADHD stands for/ ADHD & »3dg J :
(A) Attention disorder and hyperactivity | (B) Attention deficiency and hyperactivity disorder/
deficit/ nwieHs  fsrmigsg WS | WIdHS 3STRH W3 oEuaniacdifedt famiasya
TEtuanaetfedt 3fefae
(C) Attention deficit hyperactivity | (D) Attention disorder hypertension deficit/ W& HS
disorder/ MSHE sfefre W | fErrasg '3 oEuanadifedt 3fefre
TEUIacHedt fermirasg

56. are problems in pronouncing sounds correctly./ e g /dt 89796 96
fe miffmre a5
(A) Fluency disorders/ y=Ta fearg (B) Articulation disorders/ nradla®rs feara
(C) Voice disorders/ niery Hedl fearg (D) Language disorders/ ™A™ Hadt fearg

57. A teacher is using an alternative computer keyboard to facilitate learning of a child suffering

from cerebral palsy, is an example of which type of technology?/ feHait nigdar 3° Uz 59 @
fiuz &t Ag®3 et a2 niftmrua B feasfua digas & @93 a9 faor 3, feo fan fapy &t

IFEHAT o g Qeraas 2

(A) Instructional technology/ fsgera
ECGULI

(B) Computer assisted technology/ &fuz3 rarfea
ECGUCT]

(C) Assistive technology/ AaTfex
ECGRIGIE

(D) Complex hypermedia/ Su®ar aretuyaHistmT
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58.

Inclusion in education refers to/ fiftm f&g AH@ME & oo fder 3 ¢

(A) Students with special needs spend all | (B) Students with special needs spend half of their
their time with normal students/ feRH | time with normal students/ femm &3 T fefaniadt

(C) Students with special needs attend | (D) Integration of special needs students with normal
special schools/ feim &3t =& fefenast | students occasionally/ femm &3t T% feforadhit or
fenw Fost fdg AT I5 FE-FeEr mitH fefanraght 578 Cdlads

59.

Most commonly identified form of intellectual disability which is genetically transmitted is
/ S wfasT v BE 3 ok 39 '3 ugenr wE @ gu A fo Adfea 393 yAfes
der I T

(A) Genetic syndrome/ Adfex fizIH | (B) Down syndrome/ 385 fAzdH

(C) Birth disorder syndrome/ #&H fearg fAZdH | (D) Intellect disorder/ gt feag

60.

refers to a broad range of autism disorders including the classical and severe

formsofautism/___ﬁrl%w%mﬁmﬁﬁagﬁﬂ?ﬁmﬁmﬁﬁaﬁm
et v geer foer I ¢

(A) Autism spectrum disorders/ nifeaH | (B) Autism-specific disorders/ nifeaH-ferm feaa
AUACH feag

(C) ADH/ & Fts. (D) ADHD/ &.3t.mu .3t

Jot fe3 9 3 U= yHs 389 61 3 68 3 © 839 f€6-

Vi3 F39 feg gg9 mE I uIn@ a98E &Y 3um 3 wdtnr fesht IEr Ao g3¢
e@uﬁﬁa@@%wﬁhﬂ%@iﬁrwmwﬁ?ﬁxwﬁlmﬁé%
H@@%ﬁﬂﬁﬁ&@ﬂ%ﬂﬁ@ﬁéﬁﬁ%@ﬁﬁhﬁﬂﬂ»ﬁﬁ&%ﬁ%l w83
gHEs 3 g9 gIE, gas!, U GRS € 43% ¥, B, 99 3 3% uSdt aomt fee g5
e 3% Aol B3 ¥ It Ut 8 gaRt niftmnust sEt @ sTdort JEr Fe | dt feost
W%%%W—mﬁé“éﬁ»ﬁ’w@?%ﬁ@ﬁt

fefomirget a3Tat fo'g i@ I ANTST nigHT SoT I | nifthiud ni-nruEnrt FHTST Eoff
Wﬁa@,%%wwﬁﬁwﬁﬁwﬂﬁ§f&ﬁﬁ%—ﬁgﬂaﬁa
Yas mt gufest ¥ 99 A | ud fefonraghrt e fimis fiT-52 T39 @8 9% AeT HI |
ﬁmémmwﬁmammﬁmwmﬁ
R, TU-TYU TS T | eﬁe@mm%mwwn:»waam

61.

g feg nifent Hee ‘938 [O9s MEHT-

(A)USET 9 (B) AHU-T9K &< J

(C) Ffamr-Tox &fe I (D) feRA= T

62.

g feo fam niFETs 3 wea-99 U9 faar J°

(A) Tt AT (B) frfemi™ =39

(C) Ag® (D) BT

63.

fem Ug feg e mEe g © ol nigE 97

(A) 393 (B) 3®H

(C) 830 (D) BT

64.

TEH ‘g3e @3 UH 3 & ANSE J°?

(A) 89T & (B) ASH & UTHT

(C) yadt umAr (D) TFhft @7t UTHT

65.

T3 @ A9 feg Je<ud [eARE faa=r 37

(A) 9= (B) uatt

(C) I (D) Budazs A9
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66. miimsT fam gf ‘3 &fen famr At?
(A) 83 8Ug (B) AZ® € ¥ad
(C)T=3d ¢ g9 (D) Busa3 aEt &t
67. ‘T T A& I 7
(A) fA=g (B) aftmrr &
[CELS (D) A=T
68. Ug <9 o3 #ET WA &T J&, Adl 9 a9
(A) niftrrmue (B) fefenradt
(C) ¥¢ (D) Bus=3 A
It fe3 e 22 3 U3 YHs 389 69 T 76 3« © €39 1e6-
Iz 3 M T Hfenrg f&a st
g% &' didt 83 g3 B9 9
U9 U9 €3 qu I fumas
g4It 3 TG &% €H § Harda"
Iafanit ‘g gaa fudz =t nraat
oH ¢ aHE &9 7@ 99 He
Ao Ut Ut Ut Haaeit Aaahert
gfentt 3 draat § wat Bg Jaet
FE fag ugt €ge gad wiar niar €t
filst it Jaat ‘g o mie s9dt
UH A GAsT ©F I&t g afasar
39 83 7€ wHa e U=ar
Tger 3 Gt fo'v 13t 893 a9d
Tt g&aatnft, A3 2 niead
gt S g 3 B3 €% 59
69. e 22 & Aedg feu ‘Tas’ @ nidgg-
(A) Tt TE UH (B) =faz
(C) uTrst (D) =fani
70. “Afon” 3 fog o 3= 9°?
(A) 5et faad AwaET Hais (B) T
(C)dig Guarg et (D) BEMft
71. IH3 I mR el Hfemd f&'q s odl—T8R 3 feg fan Hiend @8 ferar 3T famir 97
(A) 3A=s STt (B) famast
(C) <t 7t w3at (D) 37
72. afe 22 1<g Hfena © nBE 5% ©H © &HIY faH 39T © €A A" 99 J&7
(A) &S (8) 39
(C) IAS (D) m g%
73. ‘Tafonit ‘g geET fuSE BE wiEalt -fed mae oo’ fan fenfagied gu feg nifenT 37
(A) mM™H &= (B) HH &'
(C) yarg Tox fafaonr ferms (D) rE's T fafonr femms
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74. g ot mue feRAE of faast [oAH J7?
(A) ufors Tox fenms (B) = =9 feRAE
(C) forg =ox ferms (D) uZa=r feArE
75. ezt feg ‘o = ot midg J°?
(A) AEBE (B) IIH3
(C) TTad DERES
76. <t gaaT fod €9 JT ©f % &9 f997 J°
(A) THET 57 (B) UH AT GHAST &7
(C) FIa™g EnraT (D) BT FH
77. W_‘gﬁq‘uﬁwaﬁaﬁsﬁ?raa%aﬁ‘?
(A) BEX (B) UF
(C) Bugaz =< (D) Bugaz aEt &It
78. o fehmr oo TS H'3 3THT H e & AT 37
(A) H&Tefomrs 3 33X (B) Ay 3 niy
(C) HEZaT, UZsT, fouer (D) FET3T BT 57 fAuSTE!
79. Bﬁéwéa%aﬁwﬁf‘eg%afmddawrdw-m%mmwaé?ﬁéW?
(A) MTUHT ITHIS (B) Ir&E3 T aEdl gU
(C) 2t afez™ & 8939 (D) Bugas A
80. ﬁmwéﬁaﬁ?mwﬁwmwﬁ?
(A) Afoa afezT us (B) &% AZT T YWHG
(C) Budaz €< (D) 3=t & &It
81. H% g 9
At mEs yfafon &% St a7 § 89 MTH FIS-—------- e I |
(A) fenias &U (B) AR &Y
(c)arfos (D) HET &Y
82. Hﬁsﬁmgﬁwgrﬂf&?aﬂﬁ@w o =93 fagsmit &t &% Jef J7
(A) frgrat () faarat
(C)T=" (D) Bug=z AT N
83. a3 feg @ @9 »iE U 8979 a3 87
B (A) =T Y (B) A=g =TT
(c) Budaz ©< (D) Budas =t &It
84. ﬁmﬁmmﬁﬁw@éwwrduéﬂshcﬂ%ﬂTqua’ﬁ?
(A) FEatnit-2Enrt allat Bger (B) IBH €35 ¥ HIT €d1 EF&" i
(C)g9 T niygd’ 3 BI® eI&T (D) Bugaz A9
85. o3t 3 o FuS! ®e fadsT QUIT® Hdl  AdET J 7
(A) g9 ¥ AOHE AUTET (B)Tre g=T & HUE!
(C) Budas &< (D) Buda=s o=t &t
86. W@”ﬁ'%dawaae@mﬁwaﬁmmwm?ﬁm
J AET I
(A) niftmiyer & HOH »ie™™ (B) fefewrag! &t wafAx niafagsT
(C) THTS viTa® I3eds feg 3t | (D) Busas AQ
87. éﬁmguﬁwfm@@mﬁéﬁgéwﬁaaﬁmm?
(A) ferdt-R93 AoTfea ATUS (8) fafanm=ra Aus
(c) Budazs ©< (D) Buda=s =t &dt
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88. udl 8§ Fo-
g fRfunr fedt few puasHa fAfimr &8t -—-——————- AJEr der J|
(A) Afg3 T93 (B) vU™g 93
(C) Y=H 55 (D) fsam ara3
89. yfendt a3t & Uus-yAsSa © Fadl aEt &8t Agdl 33 of 97
(A) et &t S5-ra3T (B) TiaT =S
(C)ATE 3T U& (D) Budas A9
90. STHT YWJTH BT Il AH dIGT (99 o HTHS J9d17
(A) I3-Ae (B) MrEt-25
(C) Budaz =< (D) Buda3 &t &t
91. Which of the following statements is not true for organic manure?/ 3% fod aas’ f&F faozr Afea
¥ S At St 37 :
(A) It enhances water holding capacity of (B) It has a balance of all plant nutrients/ for &g Ufow
soil/ fog ficT & uret Jue & T § ? 73 dnfex I3¢ o HIBs Jer 9
gget 3
(C) 1t provides humus to soil/ I fif&t & | (D) Itimproves texture of soil/ g i € g=39 I}
f98HA Yoo Iact 3 Foget J
92, Read the statements given below:
A. Seeds require moisture for germination./ HIF" § Gdre B8 &t € 37 It I
B. Plants can absorb nutrients mostly in dissolved form./ U€ Jafed 337 & fimre3a wd J2
gy &9 Ha" 99 Ade IS |
C. TImrigation protects crops from both frost and hot air currents./ fHI™8 @RS § 33 W3 IO
g @t gget 3 5urge I
D. Irrigation improves soil texture./ fHESt &% fifdt & ge39 &g maa Jer J1
Choose combination of statements which indicate need to irrigate crops./ TH&T © HASG ©f g
v oAs & filod & 87 § TongR J5|
(A) A and B (B)A,Band C
(C)A,B,Cand D (D) A and C
93. The process of loosening and turning of soil is called /fHt i‘a‘ féor ag& W3 yaes & x{fa'l‘anrr 'é“
faar 7e 3
(A) irrigation and manuring/ fHEB™® W3 ¥e U@s | (B) digging and winnowing /HEE W3 g7
(C) tilling and ploughing /7A3s" W3 I8 Tger (D) harvesting and storage /<< W3 F3'Ie
94. In the absence of which of the following, will photosynthesis not occur in leaves?/ aa™ &5 fan &

(A) Guard cells/ IradI AS

(B) Chlorophyll /&3S

(C) Vacuole /é‘g!'@g

(D) Space between cells/ A& fegarg &g
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Which of the following statements is/are correct? /5" 782 gEe” &9 fAgz /A I —|

(i) All green plants can prepare their own food./A™T IJ Ue mnler 376 ye f3wag ad Aae I6|

(ii) Most animals are aulotrophsJﬁM’E‘?—d Ho<sd Wéaa gé el

(iii) Carbon dioxide is not required for photosynthesis./ASH HgHs U 9" IEwEAEE & 8F
&t J1

(iv) Oxygen is liberated during photosynthesis./YaTH HASHE ©I'6 WIHIHSG Ha3 J A< I

Choose the correct answer from the options below./ J&t i3 feamu 9 AT A<= gl

(A) (1) and (iv) (B) (1) only

(C) (i1) and (iii) (D) (1) and (ii)

96.

Anushka wanted to buy a gift made of animal fibre obtained without kill:ng the animal. Which of
the following would be the right gift /WoHI" HO<I @ Itz i3 fast Ases’ 3 Yu3 913

adtEg 3 gfewr 9o vdes gdet At fegst &8 faaT It e J=4r

(A) Woolen shawl /88T T3 (B) Silk scarf /3H ASIS

(C) Animal fur cap/ H'6<d <d 2t (D) Leather jacket/ gHF © Aac

a7.

Which of the following statements is/are true for sexual reproduction in plants? e &g fasHr
m@éﬁﬁéaﬁféﬁﬁa?mﬁé?

(i) Plants are obtained from seeds./ € €H ' 3 Y3 i3 7 Io|

(ii) Two plants are always essential. /2 1R gAw wgdl de Ia|

(iii) Fertilisation can occur only after pollination. /UI'JE 3 gwe @ ye der J Aee JI
(iv) Only insects are agents of pollination. ffrgg 7 I ugE Jd6 T 9 I |

Choose from the options given below./ 3&" f&3 feaaur &g gel

(A) (i) and (iii) (B) (i) only

(C) (ii) and (iii) (D) (i)and(iv)

9s.

Arnav visited a forest near his town with his classmates and his teacher. As they were entering
the forest, their class teacher told them not to make noise in the forest as noise could

disturbmﬁwwnﬁmmwwméﬁﬁamﬁﬁ
37l 7 69 o &9 Tus J 9J A6 O @ agH »iiug & 85 § T fx 89 o e

L= -

o & uge fHEfE A9 USHS ad ASe J

(A) birds ~f@Mi & (B) animals /A&=dt §

(C) both birds and animals /&Mi" w3 A&I @< & | (D) plants /dfen &

99.

Which of the following is not the name of a tree?/ Jot i3 129 fagar 9y © o™X & 97

(A) Teak /S (B) Sal /A'S

(C) Porcupine/ USIUEls (D) Kachnar //d9ad

100.

Seas and oceans are full of water on earth. However, a very small percentage of water present
on earth is available for us. This percentage is roughly/ ogSt §3 mied w3 AGE UEl 578 39

J92 T&| a@ﬁ,uﬁ‘?ﬁa@ﬁ@@ﬁewwmmélmmwa-

(A) 0.006% (B) 0.06%

(C) 0.6% (D) 6%
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101. A man digging the ground near a water body found that the soil was moist. As he kept digging
deeper and deeper he reached a level where all the spaces between particles of soil and gaps
between rocks were filled with water. The upper limit of this layer is called/ffd fenwg3t & fig
HS-AJ3 2 38 mie O Yo aae J2 2ftmr 3 A [T 7 fAe-fae @g it 3 Juit yerdt
gavr fggr, @9 @A Yug '3 udu famrr g fifdt @ g7 w3 goe @ fegaasd Uz @ fegag
A BT urel 57 39 g for ug3 @ Quast A § faar Aer 9
(A) water level /U=t © Yyog (B) water table/ 3+l A8-H39
(C) grouncwater /G331 I&BT Ust (D) water limit. /4et 1 AT

102, The amount of water recommended by the United Nations for drinking, washing, cooking and
maintaining proper hygiene per person per day is a minimum of /43t fenadt Y3t fes e, oF,
HE UABE W3 At AT gTvEl JuE B8 HuE3 IHced ed HEgH 1St At uns o Wi ufe
H3ar JI
(A) 5 litres (B) 15 litres
(C) 30 litres (D) 50 litres

103. Water polluted by various human activities causes a number of water borne diseases. Which of
the following is not a water borne disease?/ -39 H&Hl IIFifet &8 yefitz st adt 397
St ferdhl™ T g s J1 o Bimi &9 fagdt uet 578 I @@ fordt adt 97
(A) Cholera/ Jar (B) Typhoid /< diedlg
(C) Asthma /TH" (D) Dysentry /09H

104. Which of the following is a part of inorganic impurities of the sewage? /foHaBy3 &9 faazr
ARIA S wiarggfed wigdht e i fJmr 32
(A) Pesticides /dicaas (B) Urea/ Gidhr
(C) Phosphates /@HITH (D) Vegetable waste/ HeRiM € Ifde-dae

105. Which of the following is not a source of waste water?/ 3&7 f&3 &9 fagzr gie ust & A93
&t J7
(A) Sewers /HIed (B) Homes/ Wd
(C) Industries/ €<tiar (D) Hospitals /IAYU3™S

106. A beggar wrapped himself with a few layers of newspaper on a cold winter night. This helped

him to keep himself warm because /8« f3urdl & 8 &3t I3 & wE'g i IY UI3T &'
WUz W § s el fon & @R § wuE wy § IiaH JuE feu Hee diEt g

(A) friction between the layers of (B) air trapped between the layers of newspaper is a
newspaper produces heat /WHE'g €M | bad conductor of heat. /WHET & Ug3 @ fegag

yg3t feodt garz JaH der aaet 9 SHF I8t g It T 1T Hosd I

(C) newspaper is a conductor of heat. (D) newspaper is at a higher temperature than the
/HET JITHT © Hosd Il temperature of the surrounding./ WHE'd W&-oWg

T 3IUHS &8 €9 3us '3 der I
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107. Raghav and Vrinda measured their body temperature. Vrinda found her’s to be 98.6 °F and
Raghav recorded 37°C. Which of the following statement is true? /Jm< w3 efder & WU Adig
o IpE W] Efder & WIUET IS 98.6 °F W3 I & 37°C TIH 137 Jot i3 aEs"
& fagzr Ho J?
(A) Vrinda has a higher body (B) Vrinda has a lower body temperature than
temperature than Raghav /2fder © Raghav/ efder € AJl € 3UHG U= &8 ue I
A9 T 3UuHs gwe &8 G I
(C) Both have normal body temperature (D) Both are suffering from fever /a2 gud I W33
/2T @ A9 T IUHS AT96 9 —

108. Iron pillar near the Qutub Minar in Delhi is famous for the following facts. Which of these facts is
responsible for its long stability?/ &8 &9 gg=ied 2 352 83 = #H I 33 39 58 HEI
3| foge & faga 39 fonet St AfagsT &8 fides I?
(A) It is more than 7 metres high/ f&g 7 (B) It weighs about 6000 kg. /f&H T 373 HBIISJT
Heg I3u oI 6000 faBaH I
(C) It was built more than 1600 years ago. (D) It has not rusted after such a long period. /8
/feg 1600 AS ufgst serfeomr famir 7| @W?Wﬂ@ﬁéﬁﬂﬁﬁﬁ@l

109. An EVS teacher of class V shows a video of different types of animals like reptiles, and

amphibians and discuss about them. The most appropriate objective of the activity is to draw

attention of students to NS a3 T g g.@aln. nitmrue Y-y faAH © Aoea’ fie 3
ﬁﬁ,ﬁm—aﬁﬁ?@ﬁﬁ@ﬁﬁaémﬁ@aﬁ@éwwél fefenrgdanvt T s
fifgs B IS & faodt Oa 78 3 gae J¢

(A) show food items /HE Uts € (B) observe variation in animals and their living
G fouG /Wweﬁéaﬁg—mﬁgﬁﬁééﬂ

(C) Names the animals/ A/6<d" € & (D) Importance of animals /AGI" T HI3<
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110.

A school trip Fas been organized to visit to jaisalmer during summer season by EVS teacher. The students
are taken to fields where rainwater harvesting is done and are asked to prepare a case study report

about rainwater harvesting. The purpose of such a trip is to: /WWWW@M
R BN T 29" ads sd g Ags w3 T Wi ST fmr I fefenrgdt § 93 &9
Wﬁéﬁﬁ}ﬁﬁéu@émﬁﬂfﬂﬁh@@aﬁé%éwﬁﬁm%aﬁ
RSS! fadge fanwrg 996 B8 faar Aer 31 wifadt or3ar v §9F J:

Make students understand how the human mind can solve problems that are not solved
by the nature/ fefenrgeut § mHSE & w&d forrar Bas miffmer § fa I3
I AT I H IEI3 e I8 &dl atEhi T g

Such activities not only help the learners enjoy the time outside the class but also
allow them to learn the importance of water conservation /WfAdM IrStfedt &

8T § urel € Hew & wd3zz § fifus e & wee goow g8
helps students in learning how to write case study /39H wfimls foys filys &9
fefenwrgdmi €t Hee ager 3

(A)1,2and 3 (B)1and 2

(C)2and3

(D)1and 3

111,

Which among the following considerations would an EVS teacher keep in mind while designing

a group activity in the his class /e ST wiftimug wust g &g g AHI IrSifedr

1

AW

Engage the interests of the children /Sifgwf € I3 § TS IIa"

Appeal equally to boys and girls /&I W3 FFa § 59 =3 & "iE Fg&"
Use expensive material/ HfJait mHIGt & <393 aga"

Appeal to children of all religious and cultural backgrounds/ A3 o gfia w3

(A)1,2and 4 (B)1,3and 4

(C)2and 4

(D)2 and 3

112.

NCF 2005 has not recommended any prescribed curriculum and text- books for EVS for class |
and Il. The most appropriate reason for this/ NCF 2005 & S&H I3 || 38 Evs S8t fan)

fsauras usgH w3 us-yRse € fHEgn adt aist 3| fow o 7Y F gae ade 9

(A) EVS is only for class Il Onwards (B) Learners in class | and Il cannot read and

78R g S A3 3 gmie B8 I | write/mHS | w3 11 @ fefowradt uz-fBY adt Fee

(C) To Provide contextual environment (D) To reduce the load of curriculum /UY&eH € 379
/" TITIE YyTs I35 BE wers wEt

113.

---------—-is the first school where children start their initial learning--------—-- yfagT A 3
8 =59 wugt g3t fiftmr Bg aa9e 96

(A) Family/ ufg=sg (B) Primary school/ Y fedt Ag&

(C) Play school /U8 AaS (D) Society/ AHH
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114.

Match the following 95 58 &8 A8 a3

List I List II

A Formative Online Assessment Tool I Weekly Self Test Quizzes
e Tranfee MosEle YodE g8 g3t AR AL afer

B Summative Online Assessment Tool 1l Individual Laboratory Report

C Formative Offline Assessment Tool ~ III Self Assessment Module
granfee wicods wiRAie €8 T Yo'aE HIIES

D Summative Offline Assessment Tool IV Weekly Quiz

(A) A- 1, B-1I, C- III, D- IV (B) A-IIL, B- IV, C- I, D-II

(C) A- IV, B-1II, C- 1, D- I (D) A- 11, B- 1, C- IV, D- III

115:

Assertion (A) : At memory level, teaching is nothing but learning the subject matter by rote
Reason (R): As against reflective level, the memory level is highly thoughtful
Choose the correct from the following/586 (A): Tee 3 T Uod '3, WiMs 3% & adt I

w@ﬁé%éﬁw@ﬁm(a);@ﬁsméﬁ@,mwﬁwa@aw
fegrgnts der J
Jst &3 Y At & I &I

(A) Both (A) and (R) are true ®2 (A) »i3 | (B) Both (A) and (R) are false/ 2 (A) ™3 (R) I3
(R) 3 IS B IS

(C) (A) is true, but (R) is false./ (A) 3 3 | (D) (A) is false, but (R) is true./ (A) I&H3 I i3 (R)
"3 (R) IB3 I B3 T

116.

The teacher with 50 students class, wants them to participate in an activity which involves
maximum number of senses to enable to enhance learning, for the purpose he have to follow the

suitable activity of/s50/ fefenrgsn ©F 8™ T8 wfthd, grger 3 fa G g »fadt aSifent
%mkmﬁmmémmmﬁyﬁm@awa@,@n
Qéﬁséeﬂéﬁaa@mﬁmﬁﬂéaﬂ?

(A) Organizing field visit to some (B) Using relevant smart class teaching-learning

popular places /3% Yo A" S materials/ HEIfa3 AHge oA witmmus-findset
A3 TS T WUAG IIS I & <93 96"

(C) Encouraging debate and discussion (D) Inviting resource persons from community to
among groups /AN &9 =HigA W3 demonstrate their skills /FAHH g8 fanan Uars

ggo' & €393 95" W god T YEIHG 996 o8 55EE

117.

Which of the following can be more helpful in learning about the “Mountains and Agriculture”
through ICT?/ ICT ©Y T "uJrat w3 33t T3 fitns g Jo fofimi &S fagz =83 Aofed

J Aaer 2

(A) Projector /JRscd (B) Slides /AGEZ

(C) Video /&G (D) Recorder /fdaraad
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118.

Which of the following are the major socialization agencies /gt f&g fagamr YN AHHIIS
eHAM 95
I Community /3ggrar
II. Family /ufgerg
II.  Same group /AH'S HYJ
IV. Formal Educational Institutions /3amt fefenws drgret

(A) IL, IIT and IV (B) L II, IIT and IV

(C) Iand III (D) I, IT and IIT

119.

A teacher intends to conduct remedial classes for some students who are not responding
satisfactorily. Which type of evaluation she/he would undertake for choosing students for her/his

remedial classes?/ s wfthrie g3 fefenrgs St Quored a& Bar@s o fogrer Juwr I
IAGEYE Ao &d1 € 99 I5| %@WWWME’T@EWE@T@EW
I & yoiae J39r?

(A) Summative evaluation /H9U H&FE | (B) Diagnostic evaluation /I EIISHIES HBFE

(C) Assessment of portfolios /09e28I8 | (D) Competency based evaluation /TII3" Wgig3s
T HBgE HBFE

120.

Special attention given to students with or without special needs is called /fean 83t @y
o et feim 837 @3 fefewsdw § RS Ae B fedm s & fyormer 3

(A) Integrated education /83 fifemir | (B) General education /™ fiffumr

(C) Remedial education /@ugrad fifimir | (D) Special education/ feRm frfmr

Read the passage carefully and answer the questions (121-128) that follow by choosing the
best alternative:

We must insist that free oratory is only the beginning of free speech; it is not the end, but a
means to an end. The end is to find the truth. The practical justification of civil liberty is not that
the examination of opinion is one of the necessities of man. For experience tells us that it is only
when freedom of opinion becomes the compulsion to debate that the seed which our
forefathers planted has produced its fruit. When that is understood, Freedom will be cherished
not because it is a vent for our opinions but because it is the surest method of correcting them.
‘The unexamined life', said Socrates, ' is unfit to be lived by man'. This is the virtue of liberty, and
the ground on which we may best justify our belief in it, that it tolerates error in order to serve
the truth. When more men are brought face-to-face with their opponents oh, forced to listen
and learn and mend their ideas, they cease to be children and savages and begin to live like
civilized men. Then only is freedom a reality when men may voice their opinions because they
must examine their opinions. The only reason for dwelling on all this is that if we are to preserve
democracy we must understand its principles. And the principle which distinguishes it from all
other forms of government is that in a democracy, the opposition not only is tolerated as
constitutional but must be maintained because it is in fact indispensable. The democratic system
cannot be operated without effective opposition.

121.

How, according to the passage, democracy can be preserved?

(A) By making good leaders

(B) By changing principles

(C) By having an effective opposition

(D) With the help of good teachers

122.

Virtue of liberty means

(A) Having a good personality

(B) Doing debate

(C) Tolerating errors to serve the truth

(D) Having free will
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123. When, according to the passage, freedom will become a reality?
(A) When men voice and examine their (B) When we have a good government
opinion
(C) When we can do whatever we want | (D) None of the above

124. The life is unfit to be lived by men.
(A) Civilized (B) Unexamined
(C) Liberal (D) Democratic

125. "The end is to find the truth'. What kind of noun is ‘truth’?
(A) Abstract noun (B) Proper noun

s (C) Concrete noun (D) Countable noun

126. Identify the word opposite to the meaning of word 'Savage'
(A) Barbaric (B) Turbulent
(C) Civilized (D) Fierce

127. Identify the word closest in meaning to the word 'vent'
(A) Barrier (B) Repress
(C) Conceal (D) Express feelings

128. Which adjective can be formed from the word ‘man’
(A) Men (B) Women
(C) Manly (D) Main
Read the passage carefully and answer the questions (129-136) that follow by choosing the
best alternative:
The third great defect of our civilization is that it does not know what to do with its knowledge.
Science, as we have seen, has given us powers fit for the gods, yet we use them like small
children. For example, we do not know how to manage our machines. Machines were made to
be man’s servant; yet he has grown so dependent on them that they are in a fair way to become
his masters. Already most men spend most of their lives looking after and waiting upon
machines. And the machines are very stern masters. They must be fed with coal, and given
petrol to drink, and oil to wash with, and they must be kept at the right temperature. And if they
do not get their meals when they expect them, they grow sulky and refuse to work, or burst
with rage, and blow up and spread ruin and destruction all around them. So we have to wait
upon them very attentively and do all that we can to keep them in good temper. Already we find
it difficult to work or play without the machines, and a time may come when they will rule us all
together, just as we rule the animals. And this bring me back to the point at which |
asked,' What do we do with all the time which the machines have saved for us, and the new
energy they have given us?' The answer, | think, is that we should try to become more civilized.
For the machines themselves, and the power which the machines have given us, are not
civilization but aids to civilization.

129. What, according to the passage, has given us gods like powers?
(A) Civilization (B) Science
(C) Saints (D) Magic

130. How machines have become our master?
(A) Machines are costly. (B) We are over dependent on machines
(C) Machines demand maintenance (D) Machines are hard to manage

131. Why machines are stern masters?
(A) Because they demand care and right amount of fuel. ! (B) Because they are complicated.
(C) Because they are man-made. l (D) None of the above

132. What according to the author can be done with the time which machines have saved for us?
(A) for taking care of machines 1 (B) for becoming more civilized
(C) for spending time with friends and family \ (D) for going to vacations
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133, What will happen to machines if they are not looked after well

(A) They will grow sulky [ (B) They will stop working.
(C) They will spread destruction all around. | (D) All of the above
134. Choose the synonym for the word 'sulky' as used in the passage.
(A) Silky (B) Cheerful
(C) lll-tempered (D) Amiable
135. Select the opposite of the word 'stern'?
(A) Serious (B) Genial
(C) Unfriendly (D) Grim
136. . “The machines are very stern masters’.
In the above sentence, what is ‘very’?
(A) Noun (B) Adjective
(C) Verb (D) Adverb
137. is the relative degree of prominence with which syllables of a word are
pronounced.
(A) Word accent (B) Suffix
(C) Prefix (D) Phonetics
138. There are consonant phonemes in RP (Received Pronunciation) English.
(A) 21 (B) 22
(C) 23 (D) 24 ]
139. On the basis of place of articulation, /n/ sound in ‘noise’ is
(A) Plosive (B) Affricate
(C) Nasal (D) Lateral
140. The goal/s of English language learning at primary level is/are
(A) Attainment of a basic proficiency as (B) Development of language into an instrument for
is required in natural language learning knowledge acquisition
(C) Both 1 and 2 (D) None of the above
141. The body of empirical rules which explain and regulate the structure of the sentence is
(A) Grammar (B) Phonemes
(C) Morphology (D) Syllable
142. Which of the following is not the value of teaching poetry?
(A) Sublimates emotions (B) Means of giving aesthetic pleasure
(C) Develops power of imagination (D) It is monotonous
143. In method of teaching of grammar, examples are placed before the students who
draw their own conclusions.
(A) Deductive (B) Inductive
(C) Prescriptive (D) Descriptive
144. Introductory greeting in a letter is
(A) Heading (B) Salutation
(C) Body of the letter (D) Subscription
145, According to Billow, is @ morale-building and an interest building enterprise for the
students.
(A) Storytelling (B) Dramatization
(C) Poetry (D) Remedial teaching
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146. CLTA in pedagogy of English stands for
(A) Communicative language teaching (B) Communicative linguistic teaching approach
approach
(C) Communicative language teaching (D) Communicative linguistic teaching application
application
147. Find the word nearest in meaning to 'ratiocination’
(A) Woman who owns a business l (B) Official charges for a crime
(C) Process of thinking and arguing logically | (D) A substance in our body
148. Find the word opposite in meaning to 'Slumber’
(A) Happy (B) Wake up
(C) Lovable (D) Wait
1489. | bought it hundred rupees.
Fill the appropriate preposition in the blank.
(A) Into (B) From
(C) For (D) Beside
150. What are the qualities of a good classroom speech?
(A) It should be done at normal speed I (B) Pauses should be carefully inserted

(C) Speakers should make use of proper stress and intonation ‘ (D) All of the above
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